B BEIMRI

i

Eﬂslzl DEER T R
% SHEL g g e

#11—1

» »
NF RN
N )
30 Sz
B ZE] %305

e HIIEME-, BILHEEN
o SR¥MNEMR, I’HES
o RENBREMHR, BIR—AARI




R 9 HR EIE BlES

¢ B Z o2 % 43

P:/IWWW.SINOPEC-PRESS.COM

BB B Rk P




EHEMmE (CIP) HiE
ln/\?ﬁ[ﬁjj 30 RE ML/ E

KF

—:II:E!.

=

*

A

Do
I}Eﬁa& -

R 2

-
3

RERFLS
] 77 XAk . WAL A

)f"l

A4 B sk, 2015. 4
ISBN 978 — 7 —5114 — 3281 — 0

DX -+

II.
ZEZ%wkE V. ®H319 9
H 48 CIP B4 4% 5 (2015) %5 064399 =

AL A BAE

DRF

{] &R o AN B = il

BF4%.

H“'P

AT .

—3 hi .

geig K EFR -

7%, BUE LUEATIE 2 EK

o 4 A Rl AL AR AT
Mo ik - b 5T AR X %2 58 1141 K 58 5

R % : 100011

1% : (010)84271850

BEH IR 55 #P e 1E : (010) 84289974

http://www. sinopec-press. com

E-mail; press(@sinopec. com
JC A8 14T R BN A R 2 =] Bl Rl
2 [ & 1o e B 5 £

787 x 1092 2 XK

2015 4 4 A %

*

16 FF4A< 14 Ep3K

= 3R 20154 4 A4

EM:29. 80 IT

379 TF
5 1 YR Ef kgl




KFFiE
_:E‘.. !54\3%14-

29 ™%

ik

AR LEN T EIRKZEN, I

Proficiency Test) .
25 N x, 1K

A 20 4

1

i (B 40 +E 48 FURE 8O

b €18 I+ H
5,20 B4

F 122 90 4

%
i
R B AT ) A

5

=N EC L)
EEIEBAOWKE. YL —(EA
JLBRA G, AR 75 2 0 35 4R 15 1Y

SR T L B 2 TE K S

fE 2013 £
VC R, SE R

{5 B
Eo
T
S 2 ) i B (H /Y 2
ANEBFERELAT K TF

1

H

1) .

] A\ E

- [ B R £
2 A= gy
=3k, 1Y
EW 2B R . ERELH
FAR S, I
RFEFIEHFEMREEIIFEXI TR ETE
IR X7 2 H 2 W RAEF

g 75 2% % iR (College English Test Band 4/6) , F
=3k . BElE], FEREE
128 B N A&
2006 £ 6 H 17 H gy Py
UZ TR A 2RSS 5 AN
EXKBZW MG &M mk? FiAA3
B BUIR B

=L D

3

e

Pq 7S

:]l-i:-.- I

INRFE AR KRS 1 F

iol:E
B2 ER

#ilan , 1R 2 K

BEFEXMEES BEERNE.
LAV T 3Z A BT, AN A R B b B | 2 AL AT

o Bz e s B it N A, A I
2013 4 9 H —%#E+

1 B

HENBTEMEF M 2013 £
ik!

_E

HH B A
S&=5- A LPIRIPNE =
KA, ERA T2

»H KW 115318 ;2013 £
% 235 ) T2 2CHT N B A W 5E O
R £, (5] an 70 13 3 R

- 8L Gt — H AR TE
H ﬁﬁlm

A L&D

/) HR & #
ISR GV b, 27 AT LLad o
B 5 a 7 T RE ST M I B
BRZRZAFRHURMER, RN —ESHEH TR
=12 ARG AEFZ X . TEHR A2

EE 15% BRI ., KFEHKEIE

PREFACE

1986 455 — K ik

x|

Bt 1000 5 A
X ZHES e 1ML, PUsS

/N

CEORBA LT ILA
=, TN R R G AL
15 %1 52005 4, 2K BUPR #E 47 il ;2006 47
RAMELE., DS EFES

BEAN I 5 B (R 3

. Fﬂ_&mﬂ'ln =

LG E

1

| K¢

BRI MR R
EF. XHEE 2013 4E 12 A
F1 A0 5 U 75 2% 2 1 1Y) B0k B

LH

NBeiE 27 > I H 4%
e 15 88 71 3L (Language

F-2)

AT

- .
Y 7N

Y BRI
S SR

1999 4,
= B 5 R

I.

fE 1
MR

% £
i 4 A0
o

=
-
S

]

= K ) i AR
I Mt 55

H'(J“

”
W B2 75 1

L A E 35
__ﬁ;n::nﬁ

L

132 it

], R AT

— %

(Washback Effects, ¥5

2 H Ay

FHE I

] 9L 1E 1Y)
/\J’U;&IIT

o BT, W IR X 4 )

8V

L
e

RS
5 N 1 B L
N 30 K W2

8|

L

s

——

INR T A
AR

] 5

Hﬂ(“‘”“%W
1

B R A -
412 A Y

TE XM HERRMNESESE ., I
5B AL E , Ak
NEBEEELH.

UG B FH BN A A

Horf, Y

n B &
E
E2 Rl
BEAA

H&

=

[y

]

an N




2. AN WRE VX TR 0 A 16 B0 18 1 3 8 LA &SRB FE & T 1% 8 B B S E
FR I 25, X5 T 432 B [a] 43 5 B 28 A | 280 8 4 9 %K
WL KA B K, &F XF 2015 AE A PS5l FRATTHED T b R BFE RIS 3 .
ZdBiTMEE . RMNEE . X8 B8 FEER AR B mMEME G, BW#ET . WRLE
& 15 1Y [R] B, 75 Wi W 282 B 2 U AR 28 4 A BA ) X 2% ELIE DR L R R LR SR R
HEAEFRANEEAERDN . ERP A EMKANER. XTRIPHE, & IR®
AT —HMM &, mE—¥ AT EZ/MKENBCE 1 1. K E A X — 26 B 5 Y H.
J TP R B RV HE 2 AT T — ), 22 IRMIKOK P 45 28 (BB %) & B0RY 2k M2 A 4 3 41T 89
MEOMBE 1. BRI IR VB ) R AR — E SRR IR — % .
2R E A A RIS (@2 R E M) & IL5UE R & ) B Z) 7% A 52 35 I
¥ H. AL -
REERE =mEK —EHaWF#MNE. K —-ERZH HERITEE.
WHERM, RAMF. RERES KEAK., RERZ,8A 25 H .
PR DU /S R A 2015 FFEad BT, 2 M i 20

w

s O
F b %
2015 % 3 A



!

_ﬂﬁﬁmﬁﬂﬁmﬁgwm.mummmmmmmmmmmmmmMmmm““

Wﬁﬁ%ﬁ%ﬁ%ﬁiﬁ

%2i mﬁﬁﬂﬂ
— R

ﬂﬁ%ﬁ@

= el B 2R AU £ T -
Py | 25 Bl 2] -

— vl H HIFFAE -

TR R 5 2 A BRI A O B O B 1R 1R

1.2 0 -

— B2 -
_ %ﬁ

= AL SR oo veonns nanes sen

%S x /j\
% 6 3& dxﬁﬁ@ﬂ—ﬁ@@

% 7 9& fl\ﬁlﬁﬁﬁﬂ—ﬁ?ul |]&
4 i1 5] 5 e

é'?\ j@ PEe bbb $BEOEY ¢80 b
FIX N EFEERSES
23152 1 R

25 B 2] i

'ﬁﬂ

CONTENTS

o 22
UG 5 E D S A B A TR T T IE e e e et it e e e
#3xK INFEHE—WEREAMERT oo

P |

_AA%%gﬁ@ﬂgw@iﬁ%&ﬁgﬁg”mmmmmmmmmmmmmm.
.. 38
.+ 40
.+ 43
. 44

oo 48

00 b= =

14

22

31

31
33

38

49

. 52
-+ 61
@ 10K KITIEFHBEIE TLIFGE(—) cevverrrrerrnersrraserneinneniornnisinnessssenssssessss s

o7

67

71



B 12K KIFERIB ILIFE (S) cooeervreroneeronnomiimenenierene e eesaes e e eeseeeane

R — " . 74

- 77

- 77

- 80

- 87
% 16 35 Eifﬂﬁ—*i B RIS v err i e i s e e e

. . 92

- 90

.. QQ

% 41.5)

22 L 3] 5 § Baets
% 14 BE Jsd‘hﬁ o B 77 ik

%159& stn‘ﬁ.ﬁ B % 0 $7 15

. a;a-ﬁm_a_—

[ |

g -

178k HEBB—— AW E HE voco s voni s cvomss s cnven sansssiss sonai § 55558 § swsinh s 56053

22 W o) -

T %ﬂr‘au 1

- 2;%,#3@

_4#5@
7 U“ﬁ

= %@”E

N P} 7

5 — @@ﬁﬁ
5 AR EE -
s =4 AR -
S 420 -_ZﬁJEﬁI}E

NIR NI NI NI NIR

N

...7;1-42

E23XK 202F6 BAEWAHIRB . ZERERIFE -

£ 13X KXiE&E TLAFE (PU) wvvvervrereerrreenennnnmnnenneenens

74

80
82
83

92

B 18 K ST TTBRR—BIEEFE c-ovrerrerrrre i e e e e e e e

107

L b1

113

121

» 127

- 128
oo 129

- 131
g22Kk 2011 FE12 ARG ARXT & %EEI
£ 24K 2012 F 12 ﬁf;g&uﬁﬁﬁt@‘giﬁﬁj(_)
EISK 20 EFE1R2AAERHIRT BEERERBEIL( ) corvverererrciiin,
E2oK 2013F 6 AAERAIRE BERIEEIL(—) - vreereerrreceeeeammmniie.
2R 201356 AABIRAHIRT ERBFEEIL () creeererererrnianiiiini.
EH28 K 2013F 12 AARRARE BFRRBJFEIL crvovrvrrerreretretnniiiii..
BIOK 204 F 6 BABWHAHIRE ERBIE I coovrrrrrrremntiiiiiii i,
EHI0K 204F 12 BABWNAIRT EEREFEIL crrrveerrrrrnrentnii,

127

136

154
163

- 172

181
190
199
208



_/E/m//a]

(REFEERBAFEARAER)ER A BN ERIERIR.BEWE H ® T ERIEM
— MR R BER AT E S IEE E Y B, 1B 130 880 ah, IR e HE AT 1 #;
LEBEBEPLEEMGEES  HEHREAMET 70%, T HZEKXZET 8 /DN iE.2
HEXE(RE 6~10 NG, MALL 7 a8 . =/ f158 30 (200~240 8] £ 4, B4t
10 AN A 8D L R B A IS (10 /88 flskgiE ,240~280 i) .
R 7Y FIr o5 L ) i 7 A H B E B IR A
/N i 8 % 1% $E ! 1t 8 By /X iE .8 1H B B — i
KX 1% 7 % 15 £ 2 R R X ,7 B B E — ik
& S A 10 % 1k P& H 3 /M XEL,10HGD A — i
e E 10 % H 25 {3 H 10 /B e B 4 G i = .
W i FH R E 40, 52¥% 35%.,
— B SR
1. 3SR BB B 4 #h
NiE LR, AL E A —ERIES INIE ., EMTE SR W Wy ) B AT, an R 3,
ITEEME I BXTIERIE S HE, T ER RN FEG R, I 4 #X F 4 6t , $E 1 R 5

ARKEE . AN ERTELE HAN —EER LSS HAWT .
X i B R &R H A N & o< B 1A
‘ \ homework,assignment, marks,
FH—# R LVHE YEMk .5 ik
grades
e . . borrow,return, fine,renew,due,
T —EREMR A 1H & GE)F5
overdue
how much, price tag,expensive,
i — 15 % R 1 4 ’
cheap
% —T/EAN MR MR J& MR F {54  letter,address, postage
N , room,reservation, check in,
& —HRk 55 b EEH £ 18

check out

!




B
WEHMEE AR e T
Al — AL 4 i FHERACHE MM break the rule,fine, policeman
e % —HL A Hl 4 L BE LB AL take off, flight, stewardess
AN — B4 B B . i2 i AW headache, pain, What’s the matter?

Excuse me,please,how can I..
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M. I'll have these shoes. Please tell me how much I owe you.

Will you tell me...?

W.They are $ 40 a pair and three pairs make a total of $ 120. But today we offer a
10% discount.

Q:How much does the man have to pay?
A. $120. B. $108. C. $90. D. $40.
R — 18 fa] BT B, B WA AR XA R AR . XEE R, B i) n) R A+
Z /08, Lo+ ] & B XWEE $40, 3 XUEE L $ 120, H AT #% 10% A9 37 40 45 1k, Bk iz f+F
$ 108, MASELR] LA i, iT R &AM, (B X715 80715 B =M . ILAh iz 2
B X %F 7 B9 55 8K 431 i (R, X 2 4 B 43 A R B 5 33X 8 0 TR AR 4 A B —
B RE L, DR O O 4 ) B B A R SR
(2) Hb 5 A
Hb B T XX T X7 B B A 4 4R B A9 R b s FE Rl A [a] @, i 2RI B OK E
= AR 48 X 1A PN 25 B 1) RN A T T R B 3 B S TE AR B RS 3 Br . X 3 B L3S AL
KB RE R ERE WL FSE . BIAn 1997 4 6 A XTiEEaauss 7 &1L,
M :I've just got back from the holiday you arranged for me,but I must tell you the

hmll

L

hotel was really awful! It was miles from the sea. The food was awful too. The
bed room was dirty.
W :Sorry about that. But it’s not really our fault. The contract does say that the
hotel accommodation 1s not our responsibility.
Q: Where is this conversation probably taking place?
A. At the airport. B.In a travel agency.
C.In a hotel. D. At the reception desk.
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11. What job did Miss Susan Brown have before she worked as a night nurse in a

hospital?

A. She was an office worker.

C.She was a cleaner.

P SO S 11 R — A RO B, 4 R

B. She was a physician.

D. She was a social worker.

5 £

RESE Sy OR

LI A £

) H . AP T “office cleaner” X > 5 8 id] 1 , B HE HI W 1
COPORTE B T I
ZBR M EREA AT IEANT RN H A EEZRARR. XMXER
F RFEEAMRA FEESEER . FAVAMEERNLREFF. Flan.
1998 4F 1 H X} ihal o 595 5 /Nl .
W. Take a seat,Mr. Brown. Could you tell me which position you think most appeals
to you?
M. Well, as for me, I prefer to take the post of sales manager if you think I'm
qualified.
Q:What's the man’s purpose in meeting the woman?

A.To find out her position in the company.

B. To apply for a job.

C. To offer her a position in the company.

D.To make an appointment with the sal

es manager.

ZE T X & R . X o R A B e A B A 4 R B BR AL, Al B oG
R B EREEHELEORAG., AFE L ISP AL EmiE . A R E
KHE Rl Ml R, Bk, o] DL HEBR A 1 48 501, 8 2 1F i & R
&= B

(5) F F 1 b7 251

2 b7 R R T X X I A N A B T S R R B A R R X Y PN TR A T 05 T
AR RS B . EESE. B RHAOMRA]EE.

What does the man/woman mean?

What do we learn from the conversation?

What conclusion can we draw from the conversation?

4 1999
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M. If you are in a hurry,you can take the subway. If you want to go sightseeing,

take a bus.

W .Actually,I don’t have to be at the conference before noon.
Q:What will the woman probably do?

A. Hurry to the conference.

C. Take the subway.

B. Skip the conference.
D. Take a bus.

3
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hat does the man think the woman should do?

hat does the man suggest that the woman should do?
hat does the woman want the man to do?

hat does the man advise the woman to do?

What's the woman’s suggestion?

4077 PR & [ 1B XS X 3 A 2 — B Y 2 Bl T B i s B, X 3R AN

V) 20 T e 4 TR L 3 A A . LR [R) 5

& I

Whic!
Which one does he/she prefer?

Whic

1 of the following 1s (NOT) true?

1 sport does the man/woman like?

What happened to...?
What will he/she do first?
What 1s the problem with. .
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Why
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What 1s (not) the reason for...?

What is (not) mentioned as the factor for...?

fif 253 A R ) O B RO S5 Ay (] ) DRI OR OQ &R, IX Gl AR 2 R L T IR AR A R I
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Wl R KGR R KBS E RIS HFAEEE BT Y . HISE B X R
P/ F B A0 25 Fh s 28 480 B 22 4% A0 1 B 3 H H B0 T IR L B AR DA A R B FE Y S
Elﬁf? F b A B BB R R4 R P RlvE . F D4R [a] 7 20

What did the man/woman do?

Frk
I]

What does the man/woman plan to do?

What is the man/woman doing?

What will the man/woman do first?

What are the speakers going to do?

WA B8 s 1 B A — e R oR sh4E S )5 I 7 19 i8] . 4N . first, before, after, then, later,
since %Al , XX FAAZE KB ZIER CEN. FAETHMMR—EZFE SRR E
Wi 4 4 1 ) AU, B 38 N FEFE 4 X 07 i i I Ll AR R R, W R RIA T =0

Thanks but. ..

['d love to,but. ..

That’s a good idea,but. . .

Thanks a lot,but I'm afraid I can't.
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O AR AR & B A N B e 3R Y 1R) & ) W A A1 B T R S B — e B SR Sr e B
HEXR, N TREEBR 2 RE, X hEaxXEAMSEER K, EEE
T X 4 Wy S ARG, — e AR AW A o AR P A EE A A, R — L8 §1iA]
g JLANA] -, B BR AN b SR YR BESF . R DR OX LK [a] & %ﬁf'%f"i?‘* 5 Wl [ 2 | BN 5
R b+ ILEE B s ) 2k 80, FE W ) AR T R AT 0N B L 8 B O B Wi N
A N B8 AN, PR T TR

il 4n 1998 4F 1 A 5 — 4 B9 =

On 15th, Feb., 1989 an instant survey was carried out among 18 overseas

f%

postgraduate students. 11 students were male and 7 were female. The purpose of the
survey was to discover the views of the students on a number of matter of personal
concern. The survey was conducted by means of a questionaire given to the students to
complete. There were five questions. The first question concerned favorite color and the
second favorite number. The next 3 questions were all concerned with aspects of
marriage. No. 3 looked at the ideal age to get married, No. 4 examined the qualities

looked for in a partner and No. 5 asked about the ideal number of children. The main
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findings were as follows: Blue was the most popular color. This was followed by Green

and Purple. There was no real significance in the choice of lucky number. About one

third of the students said that they had none. Sixty-one percent of the students selected
the age group 26 to 30 years as ideal for marriage,followed by 21 to 25 year. In looking
at the most important qualities in an ideal partner, someone hoped the person to be
Intelligent,others chose Natural, still others indicated Attractive and Honest. The 1deal
number of children was 2,followed by 3.1t is not easy to reach any definite conclusions
based upon such a small sample of students from such widely different backgrounds.
However,it is clear that majority favorite of 26 to 30 is the ideal age to get married with

an intelligent partner,and producing 2 children.

17.A.18 American undergraduates. B.18 American postgraduates.
C. 18 overseas undergraduates. D. 18 overseas postgraduates.
18. A. Family relations. B. Social problems.
C. Family planning. D. Personal matters.
19.A. Red B. Blue C. Green. D. Purple

20.A. The five questions were not well designed.
B. Not all the questionaires were returned.
C.Only a small number of students were surveyed.
D. Some of the answers to the questions were not valid.

[BiT)] ZRALEBHE,BTAM, AARRNGIANE,FALERT S 2R E
MM EIEFTRTTELELELANSFER BT RBARAGER TXLEAKRKFEZRET 2
TRE . MA M, ARHFRRERE EAGEE,

P RS 17 8. “Who were involved in this instant survey?” 5 f& — 1~ 40 17 &1 .
A RS —4] .On 15th Feb. ,1989 an instant survey was carried out among 18
overseas postgraduate students. 11 students were male and 7 were female. ” 3 B & 2%
] v K Bt 3] overseas postgraduates, A5 4 i 38 gk 0 7] Wi fE T .

[/NGEY A A 7T VA A i ,mﬁa‘qéﬁﬂuﬁfﬁa RELE &40 1 135 8 05k ) AR 4E LR
YA+ HoEes,

MR EE 18 8. “What do the 5 questions to be answered focus on?”%—-/“iﬁﬁ
B R, 2RI AR R E B RE 1 B e gE AT HE B K W A BB 7 . I E SR
Z A AR P 5 AN EE R TR . SCH R A% 5 AR #E AT T F
2 1) A , 7 H 7E TE 40 A 2 5 BH 8 45 H : “The purpose of the survey was to discover the
views of the students on a number of matter of personal concern. ”iZ &) a] DA {42 .~ 7]
S FEEA ., AR, B - RERER T ERNE A58 A HEER T"E K
IR 56 = BIE A M SR T\ a0 M &, . 5148, EFEA BRI — 78
IR B EEZILNE S, WX A ZERIZE M a8 K F , & )E T4 A8, H it ik 5
)2 RN D,

[NE)] MAMTUAFR eEEXPH ALK TERER . 2A e HIT7E4H
WHEGRARTEHY, BB JeiE /M6 42 ZMe) K42,

WP 19 Bi“What color was chosen as the most popular in the survey?” 555 17
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WAE . B T B B, Ar b e 20 5 “Why is it difficult to reach any definite
conclusions from the survey?” /& — N HEWr B B985 . %80 E oK % A R 4 B AR R 405 G &
g N D B R A 2 T A S AH RS HERT I IETR RO B 58 . PR BRI CE Al It
is not easy to reach any definite conclusion based upon such a small sample of students
from such widely different backgrounds.” GZz/A] &8 N EE L R B4 4]) — A B &

Bah i i TR, [BRE 2 H A ReE MO X B8, 5 HIEH R R AR K. 780 89 #
i, K E A JRR T RE FENEER, RS E RN .

[hNEY AABMTUAR B RLL0 , fRBERBI LN KGIRSGELTA
M EFZZ R —.

4. E 53T 5 (Compound Dictation) B %5 =

FIT W N2 B K BE R 250 R 22 A, MERE VUM LR ER B 5 Wy O B A 4 9 A SCOR B
M, Z iR HFB/N =R, M FEY LXMW HE .. EEF B RN
BANTE I E TR ANE . B XCERBEEFEGE  BUE LB S MR & S5 288
5 EE—AF, A LB SCRIRES R R XE R T A28,

X A A B X} i T RV BEA S G2 RE 1, B EPFE MEICEE 1 DA K
A RIARE NEA RS ER, TEEIAE T =17
(DPFFRES] B T B R X EE RN A, 5 A 0 N 3 500 X B8 78] H1 ] 20 1Y)
HEIN I, 0 H 2 25 A ) BEIA .

(OBFERE S - BEoRBEA AW EE SCHEMr&2385E 1(E B/ ZEaE L, 78 %5 5[5 A
W BT W 21 B S 1 2R R HE R S iR M PF S H oK

(3) BE[E] 1212 6 7 X PP IR T B 45 B & K, X % 4R Wy B (8] 1012 B8 1 2K B

SR, 58 U B e d . B A T S X A B A B AT O i £ 1, B 4
FEE I LAFH -

(D5 E B MM, %A e A H BB 347 0 BT 46 2 27 5

()EHEXFHNEBRLZ . AFTHEEETFEETH X FENEHLITHEDN ;

(DEEHH =R, MEEEERUZ A TEEMEENTNITE ;

(4) 7815 8 2 [8] /) Bt (8] (8] B 4 4 , 5 25 A= L %

\.

Hlnl

N ¥

ILI

r"r-

= (W 773 7 =R BB S R R 1 15

FATLA 2010 4E 12 A SN Z W 18k MF 58 — T 08 A B2 15 .
1. X iE & 4
SN GR T X g R aliC e R EKR., MEEEEEE NS 11 3.

W. This is one of our best and least expensive two-bedroom listings. It’s located in a

iyl

quiet building and it’s close to bus lines.
M :That maybe true. But look at it,it’s awful, the paint has peeled off and carpet 1s
worn and the stove 1s ancient.
Q:What can we infer from the conversation?
Hrpf &5 TEFS R EIL, tim &R 7% B B EIHF., MRZAEA
T 1T E TR RiE R R, B0 = A XEE
NN E AR AE OE 5 14 &

:




M. This truck looks like what I need but I'm worried about maintenance. For us it’ll
have to operate for long periods of time in very cold temperatures.
W.We have several models that are especially adaptive for extreme conditions.
Would you like to see them?
Q:What do we learn about the man from the conversation?
IE#Z % /&2 A. He needs a vehicle to be used in harsh weather. J& X H, B + 15 1L
RERNZ4EP B truck GEHET A vehicle, E ) 7 2 operate for long periods of time
in very cold temperatures, & B /2 BE % W & K B 6] 7 ™ ZE  {F . very cold
temperatures fl extreme conditions B[l X iy harsh weather. & T ™ 3E § #% 4 K 71X Fp
Wik RAEZAN 06 4F 6 H 17 H W& i rp gt i B A, I 2 4F 58 = & 4 S0 18 @ i I
A.How animals survive harsh conditions in the wild.
K %) 1k NN R G T B EX AR M KRR BE— T B FWr 1 3 a5 4
Y & L 5 5 e
& E 3=
freshman K—2¢4: , sophomore & — 2%/, junior student K = 2£ 4, senior student
KDY 2 A
student fiff 37 4 , tutor/mentor/director/supervisor 5 Iifi , take the course i i, drop the

B AE %2 A, undergraduate student A% £} 4= , graduate student/postgraduate

[ b1

course iR Uk, register {¥ fiff, sign up for the course i i, seminar i} i PE, selective
course/elective course/optional course # & iR, requirement/required course/
compulsory W& iR, credit %43, introductory course #J] 4% i £ , advanced course & 2% if
£ . skip the class # & , paper/essay/thesis 15 3, librarian & 4% ¥ 51 , due | ¥, renew
Zifis »back number i T, latest issue & #H —H# ,journal #§ F|, periodical #f T

Hifin=.

promotion & . FI B1, immediate boss T 3k | &] . qualification % Jf7 , certificate iiF
45 ,quit/resign & R ,retire 1B K ,lay off % V. ,credential 3 %% ,apply for the job Hi#F T
YE , applicant H iF # , resume & [ (¥ & & &% ), position B {7, occupation HR {i; , job
vacancy HH 5525 ikt , job opening R {3 25 it

HESREGH=:

renter/tenant 5%, landlord # 3/ E % , lease F 2 /F1 32, utilities 7K 1 X %% A , let
fH , furniture X H , carpet Hb £, stove 47 F, oven 7 1, suite £ B (F H & %), hotel
receptionist 7% J Hif 5 £ 7 f1 , room service & 5 Ik % , reservation i 1], be booked up
ARG

-

BB ITinsE.

plumber & 1., mechanic # Ufi, electrician Hi T., carpenter A [, telephone
repairman HL3EBEH T (L EPON$ia]3E WL 2001 4F 1 H SR XHiESE 7 Spg 4~k 5mi)
fix {&3 ,garage 4 J& ,vacuum 2> 2%, refrigerator Hi 7K , fuse {55 £2
HIKBMRZKEEEE— FE MRS but FEZM., W% 13 &.
W.The handle of the suitcase is broken.Can you have it fixed by next Tuesday?
M: Let me see,l need to find a handle that matches but that shouldn’t take too long.

Q:What does the man mean?
CETO6
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% % The suitcase can be fixed in time. /£ 5 A WG H, B o i B 75 Z 4K 2] — 4~ 0]
DAL e p 2 F7 B 32 TR B — > but I X MEHES BASFFLR A i ZFATH
222 in time B3R IR .

MU s 18 .

W. What are you going to do with the old house you inherited from your

grandfather?

M. once intended to sell it,but now,I'm thinking of turning it into a guest house.
because it's still a solid structure.

Q:What does the man plan to do with his old house?

% % Convert it into a hotel. BLJ&K B T 5 AZER but J5 1. AR B2 K E T but
A 7 B9 N %5 once intended to sell it, §t2 AR NZ L (HUT 2] but Z 5, A4 HIEZE E
f& turn it into a guest house, 5 J& % convert into a hotel )& #t .
5 e+ 3 S B P UCORI R 2R 1R R A i L i) R P
b a0 Wt B9 5 18 8, Ho 19 & 32 AL but *ﬂﬁ;ﬁ’é & turn it into FF #t convert, #f
R HTF 1999 4 6 H /N9 L Wr ) B iss 8 il

A.He may convert it and use 1t as a restaurant.

re

[TI.

berd

B. He may pull it down and build a new restaurant.

C. He may rent it out for use as a restaurant.

D. He may sell it to the owner of a restaurant.

EREE A, bl Z DL convert % 5, %58 JH 3 .

M . What is Mr. Peterson going to do with his old house on London Road? Rent it or
sell 1t?

W.I heard he is thinking of turning it into a restaurant, which isn't a bad idea,

because 1it’'s still a solid building.

Q:What will Mr. Peterson do with his old house?

[FIFE% A | turn it into Al convert W [A] Bt .

2. KA EER S

RN T B A Hh A R AR (B AN HEBR A BR B Y& B, P sE 0 Ay 22 8, 50
WEIRTW,

£ X} 5 R B ca. W Al R A IR A B DA o B R BN . b T
B AR ] 5 7%, W0 but, however, because. so 25, c. & & % 4% 19 £ 75 . @1 most. only,
absolutely, whole,entire &%, d. i & S8 FlTE E 1Y 28 1k GX 5 A B 55 A X IR 2% S8 A
BRE - FEIOEEERE—T).

19. A. Unique descriptive skills. B. Good knowledge of readers’ tastes.
C. Colorful world experiences. D. Careful plotting and clueing.

20. A. A peaceful setting. B. A spacious room.
C.To be in the right mood. D.To be entirely alone.

21.A. They rely heavily on their own 1magination.
B. They have experiences similar to the characters’.
C. They look at the world in a detached manner.

D. They are overwhelmed by their own prejudices.
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